[Il) Calculating Rate
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Calculate the rate of the demonstration reaction using the eudiometer tube setup. ’
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We will work through questions #1, 2, and 4 on p.2 of Hebden and then #19 on p.11. )
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Assignment 2: Rate Calculatlons C%Ve- P ‘ | 0> W EQ/\\ nob U< d b?‘

T1m0e(s) Massc;fSPb(g) V‘Q(AC/—&'\ o f‘O\,\LQ G S\ (Cl"e C QQ/(%.,B
15 5 vee. \Gauer TMan acr- QLOS .
30 41

45 32

v He Pewen. 3 Hiu
e rephin Tartnar s N
=T eyt A

The above is data for a reaction in which Pb is a reactant.
a) Calculate the overall rate of the reaction.
b) Calculate the rate from 0-30s and from 30-60s. 6\ k_) % d C/k
¢) Explain why the 30-60s rate is lower than the 0-30s rate.
2) When CaCOs reacts with HCI, COxy) is produced. If 243mL of CO,
is produced in 22s, what is the rate of the reaction? S€ Cﬁ m \

3) A 5.0g sample of Mg reacts completely with HCl in 120s. What is the average rate of
this reaction in g Mg per minute?

4) How long will it take (in seconds) for 45.0g of Mg to react with HC], if the average
rate of the reaction is 2.30g Mg/min?

5) Electrolysis of H>O produces O, and H». If O gas is produced at an average rate of
28.5mL/min, calculate the consumption of H>O in grams per second.

6) Given the reaction: Hy) + Clag = 2HCl

a) If 2.32g of HCl are produced in 4.0 min, what is the rate of reaction in mol
HCl/second?

b) If Hy is used up at a rate of 30.0 mol/s, at what rate is HCI produced in g/min? (hint:
use stoich table!)

7)  GsHizg + 802 = 5COx) + 6H2Og)

If 17.6g of CsHi2 is burned in three seconds, calculate the rate of the reaction in grams
of CO; per second.
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